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D
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=
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:milewy mi`ad mi`pzd f` V megza sivx d
ymiiwzn V a xebq C lelqn lkl .1
ˆ

C

−→
F
−→
dr = 0 :i
nin e
a

ˆ

Pdx+Qdy = 0 .xnyn d
y F .2:miiwzny jk V a u (x, y, z) ∈ C1 'wpet zniiw .3
∇u = F

ˆ

A→B

−→
F
−→
dr = u (b)− u (a).F ly l`ivphetd z`xwp uf` xyw heyt V m` .4
−→
∇ ×

−→
F =

−→
0(curl (F ) e` rot (F ) mb `xwp ∇× F )libxzd
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F (x, y, z) = (yz, xz + 2y, xy + 1).ely l`ivphetd z` ayg ,ok m` ?xnynoexzt:xnyn `ed m`d we
ap
∇× F =

∣

∣

∣

∣

∣

∣

î ĵ k̂
∂
∂x

∂
∂y

∂
∂z

yz xz + 2y xy + 1

∣

∣

∣

∣

∣

∣

= (x− x) î+ (y − y) ĵ + (z − z) k̂ = 0
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.xyw heyt megza xnyn d
yd okl
u (x, y, z) =

ˆ

P (x, y, z)dx = xyz +G (y, z)

∂u

∂y
= Q

∂G

∂y
+ xz = xz + zy

Gy = 2y

G = y2 +H (z)

u = xyz + y2 +H (z)

∂u

∂z
= R

xy +Hz = xy + 1

Hz = 1

H = z + c

u = xyz + y2 + z + c
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